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����� 4 

 

��	
��
	�����������	������	
���� 

 

 
4.1  ��	
��
	��������	����� 
 
 �����	
���
��������
	���������������
�� 3.11 ������������������

	������� �����������
�� 4.1 "#���� ���	$��%�&�� �����'���
������
���������������
	���� 
(�%�����������
	��������
)��$%��*��%�&��
�+�������
�����),�,�-,����� (Linear Statistical 
Model) ���������
 4.1   '��   
 

                            (((( ))))








====

====

====

++++++++++++++++====

n...,2,1,k

b...,2,1,j

a...,2,1,i

ετββτµy ijkijjiijk                              (4.1) 

 
(�%	$�                ijky   =  � ��	$�������%��%�&��
��� (Average Time in System) 
                         µ       =  E��F�$�%	�G�*�� 
                         iτ      =  �,	H,I�	$���,����
����	$� i ���+J���%������
����

	
�I%��
 
                         jβ      =  �,	H,I�	$���,����
����	$� j ���+J���%������
�
���%I���
���$%���  
                                       +
�%L��M�-� 
                      ( )ijτβ    =  �,	H,I�	$���,��������
�
,%�
�* &�� iτ  ��� jβ   
                         ijkε    =  ��'M+
�������' ��E,�I�������L&� 
 
 ����
	�����-,��N'	��
$%� 2 +J���%��G�	�G����+J���%�$' ���
�'�P�	&���� 
�����G��&��	$���	
���
 ,�'
��*ME���
	������������G�����,Q����
	�����I����-�����

����,�����$�% ���+J���%	$����� "#������,Q������
	���������
	�����$����$G 
                                  
         H0  :  ��
����

	
�I%��
U�&�$E��&�� ��	$�������%��%�&��
��� 
         H1  :  ��
����

	
�I%��
�$E��&�� ��	$�������%��%�&��
��� 
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         H0  :  ��
�
���%I���
���$%���+
�%L��M�-�U�&�$E��&�� ��	$�������%��%�&��
��� 
         H1  :  ��
�
���%I���
���$%���+
�%L��M�-��$E��&�� ��	$�������%��%�&��
��� 
 
         H0  :  ��
����

	
�I%��
�����
�
���%I���
���$%���+
�%L��M�-�U�&�$E��&�� ��	$�������%� 
                   �%�&��
��� 
         H1  :  ��
����

	
�I%��
�����
�
���%I���
���$%���+
�%L��M�-��$E��&�� ��	$�������%��%�& 
                   ��
��� 
 
��
�� 4.1  � ��	$�������%��%�&��
���(�%�F�$�% (��	$�&���) 
 

��������� ��	 !�"��#� �!������$��	��%�&�'(� ��������� ��	���"		

�	�#���	 C1 C2 

39.79 (9) 35.51 (32) 47.57 (53) 48.58 (13) 50.92 (25) 46.69 (56) 
38.13 (19) 38.97 (37) 44.24 (57) 48.80 (16) 42.68 (31) 46.75 (59) 
39.62 (26) 38.63 (45)  50.87 (18) 49.51 (44)  

R1 

41.88 (27) 40.17 (46)  48.60 (23) 48.11 (49)  
38.40 (5) 37.97 (41) 43.71 (55) 48.64 (1) 46.96 (21) 44.71 (42) 
42.10 (15) 37.33 (47) 40.55 (58) 45.22 (2) 43.46 (22) 55.41 (50) 
45.84 (29) 34.09 (52)  54.03 (8) 46.05 (28)  

R2 

44.30 (35) 41.58 (54)  48.73 (10) 42.78 (36)  
8.12 (4) 11.48 (24) 9.39 (43) 6.84 (3) 6.76 (20) 5.90 (51) 
11.80 (11) 7.88 (30) 10.63 (48) 6.17 (6) 8.22 (33) 10.87 (60) 
7.47 (12) 7.05 (39)  7.00 (7) 6.54 (34)  

R3 

8.97 (14) 15.28 (40)  5.52 (17) 9.02 (38)  

 
 '&�	$����	#�U������U ������
�� 4.1 ���
����-�����
�Z,+
�%E���
	������ %
 ,H$��
 ,�'
��*M' ���+
+
 � (Analysis of Variance) ���������Z�I+
���� 4.1 "#������
)	$�
�� ,�'
��*ME�'
&�  ] U�� &���
����

	
�I%��
����&���)��$+^,���,��������
�
���%I��
�
���$%���+
�%L��M�-��$E��&�� ��	$�������%��%�&��
��� ��&�
��+_������$��
�
 ����'&�	$�U���&��
 &��I$%�I�	$����
��� ,�'
��*M*
��U�& (Model Adequacy Checking) �'
�������	$��-�����
�
 ����
'����
 ,�'
��*M'&��ef�*��� (Residual Analysis) "#��'&��ef�*��� (Residuals) �
�*
����
	�����$G
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U������U ������
�� 4.2   (�%�
�'&��ef�*��� (Residuals) 	$�U���� ,�'
��*M�� %�
�N' �����I��HM
����$' ��*��%����
�N���������Z�I+
���� 4.2, 4.3, 4.4 ��� 4.5 

 

 
 

Z�I+
���� 4.1  E���
 ,�'
��*M' ���+
+
 � (�%�-�(+
��
� Minitab®  
 
��
�� 4.2  '&��ef�*��� (Residuals) �
�*
����
	���� 
 

��������� ��	 !�"��#� �!������$��	��%�&�'(� ��������� ��	���"		

�	�#���	 C1 C2 

-0.66 -4.94 7.12 0.43 2.77 -1.46 
-2.32 -1.48 3.79 0.65 -5.47 -1.40 
-0.83 -1.82  2.72 1.36  

R1 

1.43 -0.28  0.45 -0.04  
-2.19 -2.62 3.12 1.04 -0.64 -2.89 
1.51 -3.26 -0.04 -2.38 -4.14 7.81 
5.25 -6.50  6.43 -1.55  

R2 

3.71 0.99  1.13 -4.82  
-1.69 1.67 -0.42 -0.44 -0.52 -1.38 
1.99 -1.93 0.82 -1.11 0.94 3.59 
-2.34 -2.76  -0.28 -0.74  

R3 

-0.84 5.47  -1.76 1.74  
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Z�I+
���� 4.2  �
�N I Chart ���'&��ef�*��� (Residuals) 
 
 ���Z�I+
���� 4.2 I,��
m� &��������$���fm��L&��%�&Z�%���I,���' �'L�*
��U�& 
(�%�E�Z��,�$G���$' ��*��%���&�������$��
+n������������
������
	���� �,F���G���U�&����
)
�&��' ���L&�U�� ���������������������fm�U�&�L&� ������*����*�L��� �
���,���
���U��&�� "#��
���Z�I+
���� 4.2 I� &�������	�G�*���%�&Z�%���I,���' �'L� ���� &�������	$������������

	�����$G�$���fm��L&� ����+_��,�
��&���� 
 
 I,��
m����o,�(���
� (Histogram) ����������$���������� &� 30 ��  "#��I� &�
o,�(���
�����
�+	
�
�p��' �
����������Z�I+
���� 4.3 �#���L���U�� &�������	$�U�������
��
	�����$G�$��
���������+��, �������$G%������
)I,��
m�����
�N Normal Probability 
Plot ���'&��ef�*��� (Residuals) �I���	����' ���+_�+��,���������U���$��-&���� ���������
Z�I+
���� 4.4 (�%�$����,Q������
	��������$G 
                                                            
                                                H0  :  �������$��
���������+��, 
                                                H1  :  ������U�&�$��
���������+��, 
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Z�I+
���� 4.3  o,�(���
� (Histogram) ���'&��ef�*��� (Residuals) 
 

 
 

Z�I+
���� 4.4  �
�N Normal Probability Plot ���'&��ef�*��� (Residuals) 
 
 ���Z�I+
���� 4.4  I� &��
�N�$���fm��+_������
�*�#������    ���I� &�'&�  
P-Value �$'&����� &� 0.15 "#���$'&����� &�
������%�
�'�P 0.1 �#�U�&����
)+^,��H����,Q��*��� 
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(H0) U��  ���� &�������	$�U���������
	�����$G�$��
���������+��, ����������������

	����	$��$'&� Setting '&�������$ 
 
 �����������	$�U���������
	�����$G�$��
���������+��, �$���fm��L&� ����+_�
�,�
��&�������  ��G����)��U+'�� ��
I,��
m� &���������&��
����*
����&��	
$�����M�$' ��E��
�+
���
�����
��'&�e��%M*
��U�&���Z�I+
���� 4.5 (�%�
m$	$��$' ��E���+
U�&����&�������
	
��*�����
)*�' ��E���+

& � (Pool) �I����-� ,�'
��*M'&� F ����
����
 ,�'
��*M' ��
�+
+
 � (ANOVA) U�� �
m$	$�' ��E���+
����&��	
$�����M�$' ������&��������  ������
 ,�'
��*M���*�L	$���&��	
$�����M�%�&'���������U���������
	���� ��� 	
���
���U��&��
 ,�'
��*M�&�U+ 
 

 
 

Z�I+
���� 4.5  �
�N���'&��ef�*������'&�	$�)��Nu� (Fitted Values) 
 

 ���Z�I+
���� 4.5 ���*�� &��
������
����������	$� 8, 31, 32, 36, 50, 52 ��� 53 
�$'&��ef�*���	$��$'&���� ����+_��� 	$�	
��*���,�' ��U�&�	&�������' ���+
+
 � ���m�	$�
�
 ����' ��)����������������$�'
�G� U�&I� &��$+JP*���,��#G� �-&� ��������E,� �����G�%��
��
 &�E�	$����	#�U���$' ��)�������������
�N	$�E&����U�&I� &��$E��%&��
L��
��&���
 ,�'
��*M
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�������
L+	$���,��#G� �#�	
���
	��������,Q��' ���	&�������' ���+
+
 ����������
Z�I+
���� 4.6 "#���$����,Q��	$��-�	����' ���+
+
 �����
	���� ����$G 
                                                       
                                            H0  :  ' ���+
+
 �����
	����U�&����&����� 
                  H1  :  ' ���+
+
 �����
	��������&����� 
 
 

 
 

Z�I+
���� 4.6  ��
	����' ���+
+
 ������
	���� (�%�-�(+
��
� Minitab® 
 

 ���Z�I+
���� 4.6 I� &�U�&�$������	$�E,�+��, (Outlier) ����������$��
���
������+��, �#��-���
	������ % ,H$��
�����
M	���	 (Bartlettws Test) I� &�'&� P-Value �$'&�
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�	&���� 0.104 ��� P-Value �$'&����� &�
������%�
�'�P�	&���� 0.1 ���� &�' ���+
+
 ������

	�����$G����&������%&��U�&�$��%�
�'�P	$�
������%�
�'�P�	&���� 0.1 
 
 *������ ,�'
��*M' ��)����������� ����������E����  &�������U��
����

����
 �
 �Z�%����Z� ���
' �'L�����E���
	�������  ��	
���
 ,�'
��*M'&� 2R  "#����,�
���' ��E���+
	�G�*����������� &���,����' ��E���+
���	
$�����M�	&��� ���Z�I+
����
4.1 I� &���
	�����$G�$'&� 2R  = 97.13% ���� &��� �����
	�����$G�%�&����myM�$ ���'&� 2R  
����
	�����$G�$'&��	&���� 97.13% -$G�*��*�� &� ���' ��E���+
 100 �& � �$E������������+J���%
	$�' �'L�U�� 97.13 �& � �$� 2.87 �& � �����+J���%����	$�U�&����
)�H,��%U�� 
 
 �����
�
 ������ % Model Adequacy Checking ��� 2R  	
��*��
�����
)
 ,�'
��*M' ���+
+
 ������
	�����$GU�� ������Z�I+
���� 4.1 I� &�'&� P-Value ���
����
�
,%����	�G����+J���%�$'&��	&���� 0.000 "#���$'&����%� &�
������%�
�'�P�	&���� 0.1 	
��*�
����
)%��%��U�� &�����
�
,%����+J���%������
����

	
�I%��
����&���)��$+^,���,������
+J���%������
�
���%I���
���$%���+
�%L��M�-��$E��&�� ��	$�������%��%�&��
����%&���$��%�
�'�P 
��������G�%��I� &�'&� P-Value ���+J���%*���	�G� 2 +J���%�$'&����%� &�
������%�
�'�P�	&���� 0.1 
	
��*�����
)%��%��U���$� &�+J���%*���	�G� 2 +J���%�$E��%&���$��%�
�'�P�-&���� 
 
4.2  "	%�����	
��
	���� 
 
 �����
	��������,Q������
 ,�'
��*ME���
	���� ����
)�
L+E���

 ,�'
��*M	���),�,U�����Z�I+
���� 4.1 ���E�	$�U�����Z�I+
���� 4.1 �
����+
E�U������$G 
 
        4.2.1  	$�
������%�
�'�P�	&���� 0.1  I� &� ��
����

	
�I%��
����&���)��$+^,���,����*�'&� 
�F�$�%���� ��	$�������%��%�&��
����&�����  ����'����
����

	
�I%��
����&���)��$+^,���,����$
E��%&���$��%�
�'�P�&�'&��F�$�%���� ��	$�������%��%�&��
���  
 
        4.2.2  	$�
������%�
�'�P�	&���� 0.1  I� &�  ��
�
���%I���
���$%���+
�%L��M�-��*�'&��F�$�%���
� ��	$�������%��%�&��
����&�����  ����'����
�
���%I���
���$%���+
�%L��M�-��$E��%&���$��%�
�'�P
�&�'&��F�$�%���� ��	$�������%��%�&��
���  
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        4.2.3  	$�
������%�
�'�P�	&���� 0.1   I� &�  ��
����

	
�I%��
����&���)��$+^,���,������
��
�
���%I���
���$%���+
�%L��M�-��*�'&��F�$�%���� ��	$�������%��%�&��
����&�����    ����'����

����

	
�I%��
����&���)��$+^,���,��������
�
���%I���
���$%���+
�%L��M�-�  �$E��%&���$
��%�
�'�P�&�'&��F�$�%���� ��	$�������%��%�&��
���  
 
 ' �����I��HM�$G����U ����Z�I+
���� 4.7 ����
�N��U������
L+ &� ������$��

����

	
�I%��
����&���)��$+^,���,����*��$' ���*���������#G� ��	
��*�� ��	$�������%��%�&
��
����$'&����%�� �����
�
���%I���
���$%���+
�%L��M�-��%&��U�&�*�������	
��*�� ��	$�
������%��%�&��
����$'&�����#G� ������Z�I+
���� 4.8 ��U������
L+ &�+J���%������
����


	
�I%��
����&���)��$+^,���,���        ���+J���%������
�
���%I���
���$%���+
�%L��M�-��$
����
�
,%� (Interaction) �&����  "#��I� &�
����	$� 3 ���+J���%������
����

	
�I%��
����&��
�)��$+^,���,������+J���%������
�
���%I���
���$%���+
�%L��M�-�
����	$� 2 	
��*���,�� ��	$�
������%��%�&��
����$'&����%	$��L� 

 

 
 

Z�I+
���� 4.7  �
�N����E�	$���,������&��+J���%*��� 
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Z�I+
���� 4.8  �
�N����E�	$���,��������
�
,%����	�G� 2 +J���%*��� 
 

4.3  ��	��	������������	����� 
 
 �����
 ,�'
��*ME���
	����	
��*�%��%��E���
	����U�� &���
����


	
�I%��
����&���)��$+^,���,��� �����
�
���%I���
���$%���+
�%L��M�-��$E��&�'&�� ��	$�
������%��%�&��
��� �I����*��*��)#�' ������&������ ��	$�������%���
���������
���������&
�����	$��
���I,��
m� �#�	
���
�+
$%��	$%�E���
	����(�%�-��
�N�	&�*
���E�Z��,�	&� "#��
+
������ %�E�Z��,�+
$%��	$%�� ��	$�������%��%�&��
��������&������
�������Z�I+
���� 
4.9 �E�Z��,�+
$%��	$%�'&��-��&�%������
����

	
�I%��
����&������
�������Z�I+
���� 
4.10 ����E�Z��,�+
$%��	$%�'&��-��&�%������
�
���%I���
���$%���+
�%L��M�-����Z�I+
���� 
4.11 (�%�����������
�
���%I���
���$%���+
�%L��M�-��������-�,������%I���
���$%� 
(Conveyor) �����
�� 4.3 �����
�� 4.4  ���'&��-��&�%����
�I,������*���	$����%�+
���m 5,000 
��	�&�'��&������ 
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��
�� 4.3  -�,������%I���
���$%�	$��
���+
�%L��M�-����� ���	$� 1 
                    

����!������� 1 (C1 Model) 

( ��4��"��#� �!������ �$����4"� 
�� 	�
� 	�
� (���) 

Medium Duty Roller Bed Conveyor 196RB10-3 $1944.85 68,594.86 
����G���� Medium Duty Roller Bed Conveyor SM6 $43.15 1,521.90 
Incline Belt Conveyor 350SBF10-6 $2432.34 85,788.63 
����G���� Incline Belt Conveyor SM6 $43.15 1,521.90 


 �'&��-��&�%	�G��,G� $4,463.49 157,427.29 
    
                   *��%�*�L: ���
�����+�$�%�'&���,���	'�� 1 �����
M�*
�Q| �	&���� 35.27 ��	 
 
��
�� 4.4  -�,������%I���
���$%�	$��
���+
�%L��M�-����� ���	$� 2 
 

����!������� 2 (C2 Model) 

( ��4��"��#� �!������ �$����4"� 
�� 	�
� 	�
� (���) 

Medium Duty Roller Bed Conveyor 196RB10-3 $1944.85 68,594.86 
����G���� Medium Duty Roller Bed Conveyor SM6 $43.15 1,521.90 
Incline Belt Conveyor 350SBF10-6 $2432.34 85,788.63 
����G���� Incline Belt Conveyor SM6 $43.15 1,521.90 
Aluminum Mini Roller Conveyor H34AR105-10 $459.47 16,205.51 
����G���� Mini Roller Conveyor HPSL-12-3844 $37.68 1,328.97 


 �'&��-��&�%	�G��,G� $4,960.64 174,961.77 
 
                   *��%�*�L: ���
�����+�$�%�'&���,���	'�� 1 �����
M�*
�Q| �	&���� 35.27 ��	 
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�
�	
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Z�I+
���� 4.9  � ��	$�������%��%�&��
��������&������
���� 

 
 ���Z�I+
���� 4.9 I� &� ����
����	$�������%��-�� ���%�&���
�� ���
���%�
���	$��L�'������
����	$��$��
����

	
�I%��
���	$� 1 ����$��
�
���%I���
���$%����	$� 2 ��
+
�%L��M�-� (R1-C2 Model) (�%�-�� ���F�$�% 48.15 ��	$�&��� �������
����	$�������%��-�� ���%�&
���
�� ���
���%����%	$��L�'������
����	$��$��
����

	
�I%��
���	$� 3 ����$��
�
�
��%I���
���$%����	$� 2 ��+
�%L��M�-� (R3-C2 Model) (�%�-�� ���F�$�% 7.28 ��	$�&��� �
�*
��
����
����	$��$��
����

	
�I%��
���	$� 1 ����$��
�
���%I���
���$%����	$� 1 ��+
�%L��M�-� 
(R1-C1 Model) ����
����	$��$��
����

	
�I%��
���	$� 2 ����$��
�
���%I���
���$%����	$� 1 
��+
�%L��M�-� (R2-C1 Model) ����
����	$��$��
����

	
�I%��
���	$� 1 ����$��
�
���%I��
�
���$%����	$� 2 ��+
�%L��M�-� (R1-C2 Model) �������
����	$��$��
����

	
�I%��
���	$� 2 
����$��
�
���%I���
���$%����	$� 2 ��+
�%L��M�-� (R2-C2 Model) ��I� &�������%��-�� ���%�&��
�
�� ���
���%����� &� 40 ��	$�&��� �������������&������
�����$����*���	$�+
��
��)��$
+^,���,���	$� 3 �
�� � 1 '� ����$��
�-�+
�(%-�M�������*���	$�+
���m 99 �+�
M�"���M �#�	
��*�
�)��$+^,���,���	$� 3 ������
���������&� �+_��L�'�� � (Bottleneck Point) "#������
)���+JP*�
U���� %��
�I,���
�� �����*���	$����%����)��$+^,���,���	$� 3 
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���������

 
 

Z�I+
���� 4.10  '&��-��&�%������
����

	
�I%��
����&������
���� 
 

 ���Z�I+
���� 4.10 I� &�����
����	$��$��
�I,��	
�I%��
'�� ����
���� R3, 
R3-C1 ��� R3-C2 "#���$��
�I,���
�� �����*���	$����%�������
���� 2 '� ',��+_�'&��-��&�%����&
������
�����+_� 10,000 ��	�&������ ���)���$��
�
���%I���
���$%���+
�%L��M�-� U����& 
����
���� R1-C1, R2-C1, R3-C1, R1-C2, R2-C2 ��� R3-C2 ���$'&��-��&�%����
�
���%I��
�
���$%���+
�%L��M�-�������
���� C1 ��� C2 ���������Z�I+
���� 4.11  
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Z�I+
���� 4.11  '&��-��&�%������
�
���%I���
���$%���+
�%L��M�-� 
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4.4  ��	
��
	��������5	675�"&	� 

 
 �����+
���,�	��������&��] �I�����
�%�� �����
�� ���
���%����  �����$��

 ,�'
��*M	���e
fQe���
M�I���-& %����
����,��������	��������&��] 	$��
����#G�U���%&��)������ 
����*������&���
��	L�
 �	�G�E�+
�(%-�M	$�U��
��*������+
�%L��M�-�	���������G�] �I
��
	�������	$��*�
�%�� �����
�� ���
���%����%	$��L� ����$��
��	L�������U�&�*������&���

��	L� ����� ,��%�$G�+_���
��	L���('
���
���
�Q��� "#��U�&�$
�%
��*
��
�%U��	$��+_�E��
�U

�*�������('
���
������-� ��&�+_�E�+
�(%-�M�&���H�
m-� "#��+
�(%-�M�����&� ����
)
 ���+
$%��	$%��� %���
��& ����E�+
�(%-�M�&���,���	L� (Benefit-Cost Ratio) (�%�����+��
E�+
�(%-�M	$�U��
��������+_����'&������,� �
�*
����� ,��%�$GE�+
�(%-�M'
�� mU������
�� �
������%��&�+} (��
��E� � � 11) 	$��I,���#G�*
����������� ����	�
����
,������&��	�������
'�m������	L�	$��I,���#G�*
����������
���%��&�������%������ ����	�
����
,������&��
	�������    
 
       4.4.1  ��
'
�� m'&��-��&�%+
��Z	�&��] ���E�+
�(%-�M�����&������
���� 
                 ����
�+
$%��	$%�	��������&��] �� %���
��& �E�+
�(%-�M�&���,���	L�����*���,�
��	L�*
��'&��-��&�%	�G�*��	$���,��#G�����&��	������� "#������� ,��%�$G'&��-��&�%	$��
���I,��
m�
+
������ %'&��-��&�%����
����I������*
������*���	$����%��&������ '&�UNNn��&�+} ���'&�������

�'��&�+}����&��	����������������
�� 4.5 �����
�� 4.6  "#��'&�UNNn��&�+}���	�G������� 
�
�����$ ,H$��
'
�� m����$G 
 

             '&�UNNn��&�-�� (��            =  (2 �
���� × 746  ���M�&��
���� × 2.5 ��	�&�%��,��&�-�� (��) 
 
                              =  3.73  ��	�&�-�� (�� 
 
 �E���&�%%�E��+~ %���	
���� 244  ���&�+} ���	
���� ���� 8.30 -�� (���&� �� 

�����G�'&�UNNn��&�+}�����%I���
���$%����	$� 1 ������	$� 2 ',��+_� 244 × 8.30 × 3.73 = 7,554 
��	�&�+}  
 
 

1,000 �,(� ���M�&�%��,� 



����� 4.5  	
���
�����
������������������
�������� 

     

������ R1 R2 R3 R1-C1 R2-C1 R3-C1 R1-C2 R2-C2 R3-C2 

�
���
��� (���) - - - 157,427.29 157,427.29 157,427.29 174,961.77 174,961.77 174,961.77 

�������� (��������) - - - 7,554 7,554 7,554 7,554 7,554 7,554 

���� �
!�"�
�� (�������#$��) 76,800 76,800 86,800 71,800 71,800 81,800 71,800 71,800 81,800 

����%$&�'���� (��������) - - - 15,742.73 15,742.73 15,742.73 17,496.18 17,496.18 17,496.18 

(���)*�+�, (��������) 2,735.24 12,883.20 2,791.36 -22,662.72 -24,895.32 1,366.40 -11,419.20 -10,452.96 507.52 

 

����� 4.6  )*
�����+�����,�������
�������� 

 

������ R1 R2 R3 R1-C1 R2-C1 R3-C1 R1-C2 R2-C2 R3-C2 

�
���
��� (���) - - - 157,427.29 157,427.29 157,427.29 174,961.77 174,961.77 174,961.77 

�������� (��������) - - - 7,554 7,554 7,554 7,554 7,554 7,554 

���� �
!�"�
�� (��������) 921,600 921,600 1,041,600 861,600 861,600 981,600 861,600 861,600 981,600 

����%$&�'���� (��������) - - - 15,742.73 15,742.73 15,742.73 17,496.18 17,496.18 17,496.18 

(���)*�+�, (��������) 2,735.24 12,883.20 2,791.36 -22,662.72 -24,895.32 1,366.40 -11,419.20 -10,452.96 507.52 
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 �
�*
����%L��
�-����	$��-�����
'
�� m'&�������
�'���G� ��%L��
�-����
(�%+
���m����'
�����������
���� (��%I���
���$%�) �%�&
�* &�� 8 )#� 12 +} [35]   "#����+J��L���
��%L��
�-����	$��,%��-�����
'
�� m	���e
fQe���
M'�� 10 +} ���'&�������
�'��&�+}(�%�-���

',�'&�������
�'���������
� �$ ,H$��
'
�� m����$G 
  
 '&�������
�'��&�+}�����%I���
���$%����	$� 1 
 
           =  (���	L������%I���
���$%����	$� 1 � ���'&�"�������*����%L��
�-����) 
 
           =  (157,427.29 � 0) 
 
           =  15,742.73  ��	�&�+} 
 
 '&�������
�'��&�+}�����%I���
���$%����	$� 2 
 
           =  (���	L������%I���
���$%����	$� 2 � ���'&�"�������*����%L��
�-����) 
 
           =  (174,961.77 � 0) 
 
           =  17,496.18  ��	�&�+} 
 
 ����
'
�� mE�+
�(%-�M�����&������
������G� ����	
�����	L�����
���
%��&�������%�����
�� ����������%�	$��I,���#G�*
�����������&������
����   "#�����	L�����

���%��&�������%������&��	����������������
�� 4.7 ����$ ,H$��
'
�� m����$G 
 
 ���	L�����
���%��&�������%������ ����	�
����
,� 
 
           =  ��,���������I���������%�	�G�*���&�+} 
 

           =  76,800 ��	�&������ × 12 ������&�+}     =  3.59  ��	�&���        

�
�� �������%��&�+} 

1,051 ���&� �� × 244  ���&�+} 

�
�� ���%L��
�-���� 

10 

�
�� ���%L��
�-���� 

10 
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 ���	L�����
���%��&�������%��������
���� R1 
 
           =  ��,���������I���������%�	�G�*���&�+} 
 

           =  76,800 ��	�&������ × 12 ������&�+}      =  3.40  ��	�&��� 
 
 
 �����G�E��&��������	L�����
���%��&�������%�	$�����  = 3.59 � 3.40  
           = 0.19  ��	�&��� 
 
��
�� 4.7  ���	L�����
���%��&�������%������&��	������� 
 

����!���� &� �% ' ��	�����&8�'�"����� (���&8�'�) 

�� ����	�
����
,� 3.59 
    R1 3.40 
    R2 3.19 
    R3 3.70 
    R1-C1 4.13 
    R2-C1 4.16 
    R3-C1 3.54 
    R1-C2 3.95 
    R2-C2 3.93 
    R3-C2 3.57 

 
 ���	L�����
���%��&�������%��������
���� R1-C1 
 
           =  ��,���������I���������%�	�G�*���&�+} + '&�UNNn��&�+}  
 
                                                          ���	L������%I���
���$%� 
 

�
�� �������%��&�+} 

1,110 ���&� �� × 244  ���&�+} 

�
�� �������%��&�+} 

+ 
�
�� �������%��&�+} × ��%L��
�-���� 
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           =      861,600 ��	�&�+} + 7,554 ��	�&�+}              157,427.29 ��	 
 
           =  4.13  ��	�&��� 
 
 �����U��E��&��������	L�����
���%��&�������%�	$��������     ����
)'
�� m
E�+
�(%-�M�&�+}�����&��	�������U�������
�� 4.5 "#��E�+
�(%-�M�&�+}�������
���� R1 �$
 ,H$��
'
�� m����$G 
 

 E�+
�(%-�M�&�+}            =  0.19 × (270,840 � 256,444) 
                                                                    =  2,735.24  ��	�&�+} 
 
 �����'
�� m'&��-��&�%�&��] �&�+}	$���,��#G�	�G�*�� ���E�+
�(%-�M	$�U��
���&�+}���
��������
�� 4.6 ���  ����G����)��U+'����
�+
$%��	$%�	��������&��] �� % ,H$���'&�+J��L��� 
"#��'&��-��&�%����
����I���������%� '&�UNNn� '&�������
�'� ���E�+
�(%-�M	$�U��
������&��
	������������������
�� 4.6 %��'��+_����'&���,��&�+}   �����G������+�����'&���,��*�&��$G�*��+_�
���'&���,��	$%��	&�+J��L��������������
�� 4.8 (�%���
������$G%��+} I.e. 2550 �	&���� 7.5% �&�
+} �����
�+���*��+_����'&���,��	$%��	&�+J��L��������&��+
��Z	 ����
)'
�� mU������&�U+�$G 
 
 ��
�+���*��+_����'&���,��	$%��	&�+J��L����������
���� R1-C1 �$ ,H$��

'
�� m����$G 
 
 '&��-��&�%����
����I���������%��	$%��	&�+J��L���     
 

              































++++







−−−−












++++

××××====
10

10

100
5.7

1
100

5.7

1
100

5.7
1

600,861  

               =    5,914,092.15  ��	   
 
 
 

214,476 ���&�+} 
+ 

214,476 ���&�+} × 10 +} 



����� 4.8  )*
�����+���-�.�����/��0.1� 

 

������ R1 R2 R3 R1-C1 R2-C1 R3-C1 R1-C2 R2-C2 R3-C2 

�
���
��� (���) - - - 157,427.29 157,427.29 157,427.29 174,961.77 174,961.77 174,961.77 

�������� (���) - - - 51,851.27 51,851.27 51,851.27 51,851.27 51,851.27 51,851.27 

���� �
!�"�
�� (���) 6,325,937.01 6,325,937.01 7,149,626.72 5,914,092.15 5,914,092.15 6,737,781.87 5,914,092.15 5,914,092.15 6,737,781.87 

����%$&�'���� (���) - - - 108,059.37 108,059.37 108,059.37 120,095.18 120,095.18 120,095.18 

�-'���.+ ���� (���) 6,325,937.01 6,325,937.01 7,149,626.72 6,231,430.08 6,231,430.08 7,055,119.79 6,261,000.36 6,261,000.36 7,084,690.08 

(���)*�+�, (���) 18,774.91 88,431.33 19,160.12 -155,558.74 -170,883.49 9,379.08 -78,382.31 -71,749.96 3,483.66 

 

                  2)���2�0: )*
�����+���-�.�����/��0.1��4��56����	�7*)+���82
�����+���7��	�5� � 6 
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 '&�UNNn��	$%��	&�+J��L��� 
 

              































++++







−−−−












++++

××××====
10

10

100
5.7

1
100

5.7

1
100

5.7
1

554,7  

               =    51,851.27  ��	   
 
 '&�������
�'��	$%��	&�+J��L��� 
 

              































++++







−−−−












++++

××××====
10

10

100
5.7

1
100

5.7

1
100

5.7
1

  15,742.73  

               =    108,059.37  ��	   
 
 E�+
�(%-�M�	$%��	&�+J��L��� 
 

              































++++







−−−−












++++

××××−−−−====
10

10

100
5.7

1
100

5.7

1
100

5.7
1

22,662.72  

                          =    � 155,558.74  ��	 
 
       4.4.2  ��
�+
$%��	$%��� %���
��& ����E�+
�(%-�M�&���,���	L� 
                 �����'
�� m���'&���,��	$%��	&�+J��L������	L�	����������  ����G����)��U+��	
���

�+
$%��	$%�	��������� %���
��& ����E�+
�(%-�M�&���,���	L�(�%�-� ,H$�& ��I,�� (Incremental) 
�����
��	L� "#���
����'&���,��	$%��	&�+J��L�������
�� 4.8 ��I,��
m�	$��'�& ���U�����
��& �
���E�+
�(%-�M�&���,���	L������������
�� 4.9 
 
 �
�*���*�       B      �+_�E��&�����E�+
�(%-�M 
                         C      �+_�E��&�������,���	L� 
                       B/C    '�����
��& ����E�+
�(%-�M�&���,���	L� 
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��
�� 4.9  ���
��& ����E�+
�(%-�M�&���,���	L� 
 

��	��	�������� 
��&	�"8
 4�����	�9�( �&8���� ���%  

(B/C) 
����!���������<�� 

R1 ��� R2 - R2 
R2 ��� R3 0.08 R2 
R2 ��� R1-C1 2.58 R2 
R2 ��� R2-C1 2.74 R2 
R2 ��� R3-C1 0.11 R2 
R2 ��� R1-C2 2.57 R2 
R2 ��� R2-C2 2.47 R2 
R2 ��� R3-C2 0.11 R2 

 
                 4.4.2.1  ��
�+
$%��	$%�����
���� R1 �������
���� R2 
                              ���������������
���� R1 ��� R2 U�&�$�& ��I,�������
��	L� �I
���+_�
����
����	$�����

�
�� �I���������%�����&���)��$+^,���,����I$%��%&����$%  ��������

����

�
�� �I���������%�����&���)��$+^,���,����*�& (����
���� R2) 	
��*�U��
��
E�+
�(%-�M�I,���#G� 69,656.42 ��	 �����G����������
���� R2 �I
���*�E�+
�(%-�M���� &�
����
���� R1  
 
                 4.4.2.2  ��
�+
$%��	$%�����
���� R2 �������
���� R3 
 
                              B        =     88,431.33 � 19,160.12 
                                         =     69,271.21 ��	 
                              C        =     7,149,626.72� 6,325,937.01 
                                         =     823,689.71  ��	 
                             B/C      =       69,271.21 
                                        
               =     0.08 
 

823,689.71   
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 �����
'
�� mI� &� �& ��I,�������,���	L��*�E� B/C �	&���� 0.08 ���������
��
�� 4.9  "#�����%� &�*�#�� ����'������
���� R3 �$'&��-��&�%�	$%��	&�+J��L������� &�����
���� 
R2 �
�� � 823,689.71  ��	     ��&E�+
�(%-�M�	$%��	&�+J��L���������
���� R3 %�����%� &�
����
���� R2 �
�� � 69,271.21��	 *
����
��	L�	$��I,���#G�������
���� R3 U�&U��	
��*�U��E�
+
�(%-�M�I,���#G��������
���� R2  �����G��#����������
���� R2  
 
                 4.4.2.3  ��
�+
$%��	$%�����
���� R2 �������
���� R1-C1 
                              �����
�� 4.9 I� &� �& ��I,�������,���	L��*�E� B/C �	&���� 2.58 "#������ &�
*�#�� ����'������
���� R1-C1 �$'&��-��&�%�	$%��	&�+J��L������%� &�����
���� R2 �
�� � 
94,506.93 ��	 ��&E�+
�(%-�M�	$%��	&�+J��L���������
���� R2 %������ &�����
���� R1-C1
�
�� � 243,990.07 ��	 *
����
��	L�	$�����������
���� R1-C1 U�&U��	
��*�U��E�+
�(%-�M
�I,���#G��������
���� R2  �����G��#����������
���� R2  
 
                 4.4.2.4  ��
�+
$%��	$%�����
���� R2 �������
���� R2-C1 
                              �����
�� 4.9 I� &� �& ��I,�������,���	L��*�E� B/C �	&���� 2.74 "#������ &� 
*�#�� ����'������
���� R2-C1 �$'&��-��&�%�	$%��	&�+J��L������%� &�����
���� R2 �
�� � 
94,506.93 ��	 ��&E�+
�(%-�M�	$%��	&�+J��L���������
���� R2 %������ &�����
���� R2-C1 
�
�� � 259,314.82 ��	 *
����
��	L�	$�����������
���� R2-C1 U�&U��	
��*�U��E�+
�(%-�M
�I,���#G��������
���� R2  �����G��#����������
���� R2  
 
  
                 4.4.2.5  ��
�+
$%��	$%�����
���� R2 �������
���� R3-C1 
    �����
�� 4.9 I� &� �& ��I,�������,���	L��*�E� B/C �	&���� 0.11 "#�����%� &�
*�#�� ����'������
���� R3-C1 �$'&��-��&�%�	$%��	&�+J��L������� &�����
���� R2 �
�� � 
729,182.78 ��	 ��&E�+
�(%-�M�	$%��	&�+J��L���������
���� R3-C1 %�����%� &�����
���� R2 
�
�� � 79,052.25 ��	 *
����
��	L�	$��I,���#G�������
���� R3-C1 U�&U��	
��*�U��E�+
�(%-�M
�I,���#G��������
���� R2  �����G��#����������
���� R2  
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                 4.4.2.6  ��
�+
$%��	$%�����
���� R2 �������
���� R1-C2 
                              �����
�� 4.9 I� &� �& ��I,�������,���	L��*�E� B/C �	&���� 2.57 "#������ &� 
*�#�� ����'������
���� R1-C2 �$'&��-��&�%�	$%��	&�+J��L������%� &�����
���� R2 �
�� � 
64,936.64 ��	 ��&E�+
�(%-�M�	$%��	&�+J��L���������
���� R2 %������ &�����
���� R1-C2 
�
�� � 166,813.64 ��	 *
����
��	L�	$�����������
���� R1-C2 U�&U��	
��*�U��E�+
�(%-�M
�I,���#G��������
���� R2  �����G��#����������
���� R2  
 
                 4.4.2.7  ��
�+
$%��	$%�����
���� R2 �������
���� R2-C2 
    �����
�� 4.9 I� &� �& ��I,�������,���	L��*�E� B/C �	&���� 2.47 "#������ &�
*�#�� ����'������
���� R2-C2 �$'&��-��&�%�	$%��	&�+J��L������%� &�����
���� R2 �
�� � 
64,936.64 ��	 ��&E�+
�(%-�M�	$%��	&�+J��L���������
���� R2 %������ &�����
���� R2-C2 
�
�� � 160,181.29 ��	 *
����
��	L�	$�����������
���� R2-C2 U�&U��	
��*�U��E�+
�(%-�M
�I,���#G��������
���� R2  �����G��#����������
���� R2  
 
                 4.4.2.8  ��
�+
$%��	$%�����
���� R2 �������
���� R3-C2 
                              �����
�� 4.9 I� &� �& ��I,�������,���	L��*�E� B/C �	&���� 0.11 "#�����%� &� 
*�#�� ����'������
���� R3-C2 �$'&��-��&�%�	$%��	&�+J��L������� &�����
���� R2 �
�� � 
758,753.07 ��	 ��&E�+
�(%-�M�	$%��	&�+J��L���������
���� R3-C2 %�����%� &�����
���� R2
�
�� � 84,947.67 ��	 *
����
��	L�	$��I,���#G�������
���� R3-C2  U�&U��	
��*�U��E�+
�(%-�M
�I,���#G��������
���� R2  �����G��#����������
���� R2  
 




